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Geometry Common Core
Midterm Review

.Name: Date: Period:

1. In the diagram below, AEFB || CGD and GE and GF are drawn. MIDTERM
EXAM DATES

B

Tuesday, 1/15
Wednesday, 1/16
Thursday, 1/17

IfmsEFG = 32° and m£AEG = 137°, whatis m£EGF?

LEGF =105°

@

2. In the diagram below, congruent figures 1, 2, and 3 are drawn.

Which sequence of transformations maps figure 1 onto figure 2

£ and then figure 2 onto figure 3?
E (1) areflection followed by a translation
i .« (2) arotation followed by a translation
7 N (3) atranslation followed by a reflection
D A"
<_3—:> a translation followed by a rotation
& B’
3. Which regular polygon has a minimum rotation of 45° to carry the polygon onto 1tself’
2\ 3060 (»9 O
(})) octagon L “’%" ol S’ (3) hexagon C@’j 3 - (00
(2) decagon -, 5 (4) pentagon ( g\

€ 20 4 )
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4. Which statement is sufficient evidence that ADEF is congruent to AABC?

. e (1) AB=DEand BC = EF
(2) ¢D=¢£A LB = LE, £C = LF
@There is a sequence of rigid motions that maps AB
c o onto DE, BC onto EF and AC onto DF.
A (4) Thereis a sequence of rigid motions that maps point
F A onto point D, AB onto DE, and 2B onto £E.

5. The coordinates of the vertices of ARST are R(-2, —3),5(8,2),and T(4,5). Which type of triangle is

5 5T, RT
ORSTT  egobivC g By 6.4 55 .23 ) -3aczEdd
i ones SEsStAl =9 ] mad e 3
right S (3) obtuse -3-4 2~ H
(2) acute (4) equiangular » /

6. In the diagram to the right, a square is graphed in the coordinate
plane. A reflection over which line does not carry the square onto

itself?

(@) x=s @) y==x

(2) y=2 (4]—Z+y=4
- ==

e )

7. A sequence of transformations maps rectangle ABCD onto rectangle A"B"(C'"D", as shown in the

diagram below.
Yy

Which sequence of transformations maps ABCD onto A'B'C'D' and then
mapsA'B'C'D' onto A"B"C"D"?

@ a reflection followed by a rotation

= & (2) areflection followed by a translation

& (3) atranslation followed by a rotation

A ol Buid ud g (4) a transl}tion followed by a reflection .

-
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8. In the diagram below, which single transformation was used to map
triangle A onto triangle B?

(1) line reflection (3) dilation

@ rotation (4) translation EEE TSNS TSR "

9. Two right triangles must be congruent if

(1) anacute angle in each triangle is congruent
(2) thelengths Ofthe hypotenuses are equal
@ the corresponding legs are congruent

(4) the arezw equal

10. In the diagram below, FE bisects AC at B, and GE bisects BD at C.

. ' Which statement is always true?
E
. (1 E)TET (3) *B_D‘biseyg’(ﬁatc
1 i 1 — -
A c o (2) FB=EB (4) AC bisegsFE at B
F G \

11. Triangle ABC and triangle DEF are graphed on the set of axes below.

! Which sequence of transformations maps triangle ABC onto triangle
DEF?

\> reﬂection over the x-axis followed by a reflection over the y-
ax15

x (2) a180° rotation about the origin followed by a reflection over

’ theliney = x
Q . (3) a90° clockwise rotation about the origin followed by a
! reflection over the y-axis

11 | (4) atranslation 8 units to the right and 1 units up followed by a
90° counterclockwise rotation about the origin
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12. Quadrilateral ABCD is graphed on the set of axes to the right. When

¥
ABCD is rotated 90° in a counterclockwise direction about the origin, its (1]
image is quadrilateral A'B'C'D’. Is distance preserved under this

rotation, and which coordinates are correct for the given vertex?
(1) noand C’(1,2) (3) yesand A'(6,2)

yes and B'(—3,4)

(2) noand D'(2, 4)

13. Line segment EA is the perpendicular bisector of 7T, and ZE and TE are drawn.
Which conclusion can not be proven?

(1) EA bisects angle ZET

@Triangle EZT is equilateral

(3) EAis a median of triangle EZT
(4) Angle Z is congruent to angleT

14. Find the value of £n.

4) \g0 | m=_T0
T3\ =Y
0

1P
—\o¥
o

15. In regular hexagon ABCDEF shown below, AD,BE, and CF all intersectat G.
B gl

When AABG is reflected over EE rotated 180° about point &, AABG
is mapped onto

D
(@) ares

(3) ACBG 'y
(2) DAFG (4) ADEG
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16. In the diagram below, AKS, NKC, AN, and SC are drawn such that AN = SC.

3)

Which statement is sufficient to prove AKAN = AKSC by AAS?

e ———

c (1) Eandﬁbisecteachother(&) need OM‘H’V""
poier o 2°S

(2) K is the midpoint of NC. (5) ’
() T5LTN (A bt sore ane a5 webele <)

717\7 IS¢ (A Z olrne o l‘f‘-}rlw)

\".¢} ‘\Ff-’ 'S

™

17.1n AABC, BD is the perpendicular bisector of ADC. Based upon this information, which statements
below can be proven? |

L @isamedian ik
1. BD bisects zABC T
1. AABC isisosceles

(1) 1and1l, only (3) Nandl,only A x C.

(@) 1and 1, only I, 11, and I\

18. After a counterclockwise rotation about point X, scalene triangle
ABC maps onto ARST, as shown in the diagram below.

S
X
L]
Which statement must be true? = 74
R
A
8

(1)) 2A = £R (3) fﬁsﬂ/
(2) cA= (4) CA=TF

19. In the diagram below,'ﬁ | DEF, AE and BD intersect at C, m<B = 43°, and m«CEF = 152°,

| &2
':_.j—\—' Which statement is true?
y OA
(1) meD = 28° @ m<ACD = 71°

(2) meA =43° (4) m£BCE = 109°
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20. In the diagram below, line m is parallel to line 7. Figure 2 is the image of Figure 1 aftera reflection

over line m. Figure 3 is the image of Figure 2 after a reflection over line n.
Which single transformation would carry Figure 1 onto Figure 3?7
(1) adilation (3) areflection
(2) arotation @a translation
/ .@
n

21. The regular polygon is rotated about its center.

9

What is the minimum angle of rotation that will carry the figure onto itself?

(1) 60°
(2) 360°

V-4
’)

=, i—g) S

22. In parallelogram ABCD shown below, the bisectors of 2ABC and 2DCB meet at E, a point of AD.

If meA = 70°, determine and state mzBEA.
B &

23. In isosceles trapezoid QRST shown below, QR and TS are bases. If m£Q = 5x + 3 and

meR = 7x — 15, find x.

T = WIC \
S g5
4/.

| 4~ &%
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24_. In the diagram of PQRS below, the diagonals PR and QS intersect at
point T, PR = 10, and QS = 24. Determine and state the perimeter of

PQRS. 5;* o? = @ Pecsnettr

13(v) = 59

&
(

25. As shown in the accompanying diagram, a rectangular gate has
two diagonal supports. If m£1 = 42, what is m«2?

o
Lo Tl

26. In the diagram below of parallelogram ROCK, m£K = 114° and m£ROS = 56°. What is m£RS0?

C
* - g 56
(1) 56° — _f—l:k__ 9 -—tQJ
b 5¢ 114° (2) 48° b 4) 66° IQQ qg
R S K

27. A parallelogram must be a rectangle when its

(1) diagonals are perpendicular

( [é)», diagonals are congruent

(3) opposite sides are parallel

(4) opposite sides are congruent

28. If the diagonals of a quadrilateral do not bisect each other, then the quadrilateral could be a

e

(1) rectangle
.(2) rhombus
(3] square
fJ)trapezond
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29. Given three distinct quadrilateral ,/a square, a rectangle, aid arho bus)\which quadrilaterals must
have perpendicular diagonals?

(1) the rhombus, only
(2) the rectangle and the square
@the rhombus and the square
(4) the rectangle, the rhombus, and the square

30. In the diagram of parallelogram FRED shown below, ED is extended to 4, and AF is drawn such that

AF = DF

F R
(34 If m£R = 124° whatis m£FDE?

L @) e (4) 112°

A D

——

™~

31. A parallelogram must be a rhombus if its diagonals

(1) are congruent e .
(2) bisect each other

(3) do not bisect its angles

@re perpendicular to each other

32. In parallelogram QRST shown below, diagonal TR is drawn, U and V are points on 7S and QR,
respectively, and UV intersects at TR at w.

IfmeS = 60°, m£SRT = 83°, and mzTWU = 35°, what is m£WVQ?

(1) 37° . 3] 72° )

(2) 60° (4) 83°
S 24 (
(N [ §o | S [ KO
X 55 ¥ s — o 8]

J
NS 37 / e 1o%
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33. Which set of statements would describe a parallelogram that can always be classified as a Thombus?

I. Diagonals are perpendicular bisectors of each other
. 1. Diagonals bisect the angles from which they are drawn.
1. Diagonals form four congruent isosceles right triangles

land Il (3) IMandlll
(2) Tandlll (4) L1, and I

34. Complete a formal proof, proving the triangles congruent, and then proving corresponding parts
congruent. Be sure to mark your diagram to support your answer.

N

Given: KM bisects JN
Z]KL = £NML

L=ML

. Statements Reasons

(DKM Yosetks SN © given
LILL = LML

DI =N

D A veeclr s & \iie

/ indw —~ = i}m"\*j
3 L3 S oM s | =y
3) verkice (‘s aft =

UIASILL 2 pp
L Lokl = LM 0) AA.S
LT (5) cpeT-C

—~
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angles are congruent. Be sure to mark your diagram to support

35. Complete a formal proof, proving tri

your answer.
<N
J. K o

Given: X/ =YK

PX = PY Z

: Y = AKPX
Prove: AJP KP X
o
Statements Reasons

@XT:)/K (D) qiven
PX :Pj 3 .

@ A it 4 (:9 Wmﬁ%‘}%y@ '

(2>3x+xP =37 (2) Add hion
Kj*:jPZWLP @wa47

S =Y

(@&j?jiﬁfﬁ(g__px @SAS
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36. As shown in the diagram below, CD is a median of AABC.
Which statement is always true? S—

01) AD = DB (3) £LACD = £CDB
(2) AC=4D (4) £BCD = £ACD

37. In the diagram below, the vertices of ADEF are the midpoints of the
sides of equilateral triangle ABC, and the perimeter of AABC is 36 cm.

What is the length, in centimeters, of EF?
(1) 6 (3) 18 /—36:

(2) 12 (4) 4

— — (
38.In AABC, D is the midpoint of AB and E is the midpoint of BC. If AC = 3x — 15 and DE = 6, what is
the value of x?

(1) 6 Bk &S

-
@27 (4) 12 %)( —&d]
3

X =
39. In the diagram below of AACE, medians AD, EB, and CF intersect at G. The length of FG is 12 cm.
What is the length, in centimeters, of GC?

X A
(2) 12 \ 4
(3) 6
(4) 4
E D Cc

KC
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40In the diagram below of AABC, DE is a mid-segment of AABC, DE
perimeter of AABC.
P

=7'AB=1O,andBC:13'Fi“dthe
1O+ 1241y \U
= T |

Iy ’

41. In AABC shown below, medians AD, BE, and CF intersect at point R.1f CR = 24 and
RF = 2x — 6, what is the value of x?

42. Using a compass and a straightedge,
construction marks]

construct the median to side AC in AABC below. [Leave all

il
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43. Using only a ruler and a compass, construct the bisector of angle BAC in the accompanying diagram.

44, Using a compass and a straightedge, locate the midpoint of AB by construction. [Leave all

construction marks]

45, Using a compass and a straightedge, construct a line perpendicular to line [ through point P. [Leave

all construction marks.
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46. Using a compass and a straightedge, capstruct a line perpendicular to B through point P. [Leave all ‘
construction marks]

N

49. Giv!
verte"j

)

47. Using a compass and straightedge, on the diagram below of RS, construct an equilateral triangle with

RS as one side. [Leave all construction marks] \
o\ \e
i g Lengi

48. Construct aline parallel to line [ through poi tP.
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49. Given trapezoid JKLM with JK || ML using a compass and a straightedge, construct the altitude from

vertex J to ML. Leave all construction marks.

K
- :
—// . B N —— .
50. Given AABC with m«B = 62° and side iﬂ_f extended to D, as shown below.
Which value of x makes AB = CB? B l 8{%
(1) 59° %60 4 a5
@ . l — T\
(2) 62 e 0
- S\ x (K
A T C D

€ 2 ‘
~ @
L4 | durn

/
54
51. Which point shown in the graph below is the image of point P after a counterclockwise rotation of 90°
T SN

about the origin?

. " Yoirk 7“?\
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52. Triangle ABC is graphed on the set of axes. Graph and label
AA'B'C' the image of AABC after a reflection over the liney = —1.

53. A sequence of transformations maps rectangle ABCD onto rectangle A"B"C"D".

a.

Graph rectangle ABCD whose coordinates are A(—8,6), B(~2,6),C (=2,4), and D(—8,4) on the
coordinate plane below.

On the same set of axes, graph rectangle A'B'C'D’, the image of rectangle ABCD reflected over

the x-axis.
———

On the same set of axes, graph rectangle A”B"C"' D", the image of rectangle A'B'C'D’ rotated
about the of_g‘irlgg_z —

State the coordinates of the final image, rectangle A" B”C"'D".
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.= 54. The vertices o ST are R(—6,5),S(—7,—2), and T(—1,4). The image of ARST after a reflection
about the y-axis followe y T_, 3 is AR"S"T". Graph and label the coordinates of AR"”S"'T".

——————

© " ,

T%,3 1
VA
vp 3 N
Lepr 9
i X

f

i
«—«rl‘n ek e S S A ‘..{ S et e = -i«-—a e -—«-—l . S
| INEEAEN NEEEEERER N

+ - | R s = T

o P - T .

. B e B e
. . s - - - —tfren
| |
—on P
| 1k 3
. i
|

'
[}
I
i o
D
1
"
{
)
H

§
L
4

Describe a sequence of transformations that maps quadrilateral BIKE onto quadrilateral GOLF.

e e

(elecl qwr Hhe W ~OxS
R0
T.(ng\a.&fe U? 5 Uh;jrs
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